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KEY POINTS TO REMEMBER – these are relatively easy marks to get, but also easy to throw away! Be careful and remember the following. 

Plotting – must be accurate. CLOSE will not get you the MARK!

Shading on bar charts– 

Arrows for diagrams or photos – 

Line of best fit – 

Order on bar charts –

Line graphs – 

Shading choropleth maps –
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(b) Study Figure 2 below, a dispersion diagram showing unemployment data for
15 states in Germany.
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(i) Plot the data for Hamburg on Figure 2.

Statein Germany % Unemployed

Hamburg 50

(i) Calculate the interquartile range for the completed set of data.

Answer =
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(a) Study Figure 5 which shows the growth of traffic in Cambridge, a large city in the
UK

Figure 5
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(a) (i) Complete the graph by plotting the 2000 figure of 145%
(1 mark)

() What was the percentage growth between 1990 and 20007

%
(1 mark)
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(b)

(b)

Study Figure 3 which shows the changing population structure of Sweden, a rich

European country.

100

Figure 3

90

80

70

60

Population

o) 0

40

30

10

1850

1900 1950
Year

Age Groups

(i) What percentage of the population was aged between 0 and 14 in 19007

%

(1 mark)

(ii)  Use the following figures to complete the bar for 2001

Age Percentage
40-64 24
65+ 26

(2 marks)
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Figure 4
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1(d)() Complete the paragraph below.

Circle the correct answer in each set of brackets. Use Figure 4.
[3 marks]

0On 3 November 2013, Typhoon Haiyan was at 6°N and [ 155°E / 157°E / 160°E ]
Typhoon Haiyan moved across the Pacific Ocean, passing over

[ Malaysia / Thailand / the Philippines] and then towards the

[ north-east / north-west / south-east ] across the South China Sea, before

making landfall in Vietnam
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4(c)  Study Figure 13, a scattergraph showing the link between GNP per head and
the percentage of people employed in agriculture in selected countries

Figure 13
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4(c) (i) Plot the following statistics on Figure 13.

GNP per head Percentage of people employed in
(£000s) agriculture
2 80

(1 mark)

4(c) (ii) Whatis the relationship between GNP per head and the percentage of people
employed in agriculture shown in Figure 137

(1 mark)
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1(b)  Study Figure 2, a graph showing state refirement ages in selected European countries

in 2012.
Figure 2
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1 (b) (i) Use the following information to complete Figure 2
[2 marks]

Country | State retirement age (years)
Men Women
UK 65 61
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5 (a) (i) Study Figure 11, a block diagram showing how river landforms change downstream.

Alevée is labelled on Figure 11

Mark with an arrow and label three other different landforms — one found in each of
the upper, middle and lower course of the river.
[3 marks]

Figure 11

Long profile
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4 (b) (i) Use the following information to complete Figure 11.

Aid from UK to Bangladesh £150 million

(1 mark)
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2(b)

Study Figure 6. Figure 6 shows population growth in four cities in developing
countries

Figure 6
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2 (b) (i)

Which city is estimated to have the largest growth of population between
1990 and 20307

[1 mark]
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5(b)  Study Figure 12, a map showing selected countries’ share of trade with China as a
percentage of total trade in 2010,

Figure 12
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5 (b) (i) Use the following information to complete Figure 12
[2 marks]

Country Share of trade with China in 2010 as a
percentage of total

Germany 6

Japan 21
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4(a)  Study Figure 9 on the insert, a scattergraph showing the link between life expectancy
and the percentage of the population with access to safe water supply.

Figure 10 is a black and white copy of Figure 9.
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4(a) () Drawa best fit line on Figure 10.
(1 mark)
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Figure 14
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5 (b) (i) Use the following data to complete Figure 14.

Energy consumption in
quadillion Btu, 2035

Rest of world

520

China and India

240

[2 marks]
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1 (a) () Complete the graph below showing the number of cruise passengers using the port of
Southampton. Use the following information.
[2 marks]

2012 1.4 million
2014 1.6 million
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uses which are second homes

(a)
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(a) (ii) Complete the shading on Figure 9 by using the information below for the
parishes of Colton and Lakes.

Colton 11.8%

Lakes 21.3%
(2 marks)
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uses which are second homes

(a)
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(a) (ii) Complete the shading on Figure 9 by using the information below for the
parishes of Colton and Lakes.

Colton 11.8%

Lakes 21.3%
(2 marks)
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2(a)  Study Figure 5. Figure 5 shows urban and rural world population (1950-2050).

Figure 5
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2(a) (i) In which year were both urban and rural population 50% of the world's population?
[1 mark]

2 (a) (i) By how much s it estimated that the world’s urban population will be greater than the
world's rural population in 20507

Gircle the correct answer.
[1 mark]

2000 million 4000





